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QUESTION 1

What are two characteristics of Cisco ACI and Spanning Tree Protocol interaction? (Choose two.)

A. When a TCN BPDU is received in a VLAN, Cisco ACI flushes the endpoints for the associated encapsulation.
B. STP BPDUs are dropped due to MCP.

C. MST BPDUs are flooded correctly in Cisco ACI fabric without additional configuration.

D. BPDU filter and BPDU guard can be configured on Cisco ACI leaf edge ports.

E. Cisco ACI must be configured as the STP root for all VLANS.

Correct Answer: DE

Reference: https://www.cisco.com/c/en/us/td/docs/switches/datacenter/aci/aci_virtual_edge/configuration/1-x/b_Virtual _
Edge_Config_Guide_1 2 2/b Virtual_Edge_Config_Guide_1_2 2 chapter_0101.html

QUESTION 2

Tenant 1
VRF1 VRF2

L30Out

External
EPG

EPG1

©

&

Refer to the exhibit. An engineer must have communication between EPG1 in VRF1 and External EPG in VRF2. Which
three actions should be taken for the defined subnets in the L30ut External EPG to accomplish this goal? (Choose
three.)

A. Enable Shared Route Control Subnet

B. Enable External Subnets for External EPG

C. Enable Export Route Control Subnet

D. Enable Shared Security Import Subnet

E. Enable Aggregate Shared Routes

F. Enable Import Route Control Subnet
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Correct Answer: CDF

Reference: https://www.cisco.com/c/en/us/solutions/collateral/data-center-virtualization/application-centric-
infrastructure/guide-c07-743150.html

QUESTION 3

A cloud provider must make a pair of firewalls available to all tenants. Each tenant defines its own service graph. Where
should the Layer 4 to Layer 7 service be configured to accomplish this goal?

A. management tenant
B. infrastructure tenant
C. user tenant

D. common tenant

Correct Answer: C

QUESTION 4

What are two characteristics of Cisco ACI interaction with MSTP? (Choose two.)

A. A Cisco ACI leaf flushes all local endpoints in the received EPG when an MSTP TCN frame is received.

B. A static path binding is required for native VLAN to carry the MST BPDUSs in existing EPGs.

C. Mis-cabling protocol is used to snoop the MSTP TCN packets.

D. A dedicated EPG must be created for the native VLAN ID with static bindings toward the MSTP-enabled switches.
E. The PVST simulation must be configured on external network switches to support MSTP.

Correct Answer: CD

QUESTION 5

DRAG DROP

A leaf receives unicast traffic that is destined to an unknown source, and spine proxy is enabled in the corresponding
bridge domain. Drag and drop the Cisco ACI forwarding operations from the left into the order the operation occurs on

the right.

Select and Place:
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Answer Area

Spine lookup occurs dMACi or dIPi Step 1
Packet is sent out of the fabric Step 2

Packet is routed in VRF overlay-1

based on dIPo Siep:%
Source leaf forwards the packet to

anycast TEP encapsulated with Step 4
VXLAN header

Packet reaches destination leaf and

is VXLAN decapsulated Step 5

Correct Answer:
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Answer Area

Source leaf forwards the packet to
anycast TEP encapsulated with
VXLAN header

Spine lookup occurs dMACi or dIPi

Packet is sent out of the fabric

Packet reaches destination leaf and
is VXLAN decapsulated

Packet is routed in VRF overlay-1
based on dIPo
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